March
&N 2024

* Bu dokiimandaki tim urln agiklamalari, parga numaralar ve veriler sadece bilgi amachdir. All
product descriptions, part number and data included in this document are used for information

ﬁ?»

K
RODRUNNER

STEERING & SUSPENSION PARTS

www.rodrunnerparts.com




= ~

ﬁ

S NUDRUNNER B\ March 2024

TEERING & SUSFENSION PARTS

A\

y

RODRUNNER REF NO: LS-CD-1006 ADAPTABLE CADILLAC
Stabilizer Bar Link Plastic Type

L’

Weight: 0,262 Length: 225 Bolt Metric: M12X1,75

MODEL NO BODY YEAR DIRECTION OEM NO
ATS 1st gen 2013-2019 Front Right 20887087
RODRUNNER REF NO: LS-CD-1006 ADAPTABLE CADILLAC
Stabilizer Bar Link Plastic Type

L’

Weight: 0,262 Length: 225  Bolt Metric: M12X1,75
MODEL NO BODY YEAR DIRECTION OEM NO

CT4 1st gen 2020- Front Right 20887087



= ~

ﬁ

S NUDRUNNER B\ March 2024

TEERING & SUSFENSION PARTS

A\

y

RODRUNNER REF NO: LS-CD-1007 ADAPTABLE CADILLAC
Stabilizer Bar Link Plastic Type

Weight: 0,262 Length: 225 Bolt Metric: M12X1,75

MODEL NO BODY YEAR DIRECTION OEM NO
ATS 1st gen 2013-2019 Front Left 20887086
RODRUNNER REF NO: LS-CD-1007 ADAPTABLE CADILLAC
Stabilizer Bar Link Plastic Type

Weight: 0,262 Length: 225  Bolt Metric: M12X1,75
MODEL NO BODY YEAR DIRECTION OEM NO

CT4 1st gen 2020- Front Left 20887086



= RODRUNNER B | March 2024

USFENSION PARTS

RODRUNNER REF NO: LS-CH-1226
Stabilizer Bar Link

Weight: 0,425 Length: 98  Bolt Metric: M12X1,75

MODEL NO BODY YEAR DIRECTION OEM NO

EXPRESS 3500 2nd Gen 2003-2014 Rear 15785558

RODRUNNER REF NO: LS-CH-1226 ADAPTABLE GMC
Stabilizer Bar Link

=3
~

g—&

Weight: 0,425 Length: 98  Bolt Metric: M12X1,75
MODEL NO BODY YEAR DIRECTION OEM NO

SAVANA 3500 2nd Gen 2003-2014 Rear 15785558




ﬁ

= NODRUNNER B\ March 2024

STEERING & SUSFENSION PARTS at

A\

y

RODRUNNER REF NO: TC-DO-438 ADAPTABLE DODGE
Control Arm and Ball Joint

Weight: 2,426 Length: 198  Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

DURANGO 3rd Gen 2011- Front Right 68282328AA
Upper

COMPONENTS NUMBER NAME DIRECTION OEM NO

ﬁ' BJ-DO-395 Ball Joint Front Upper 68282328AA*
- BC-Jp-BS052 | COMIOLAMM 1 Upper | 68282328AA, 68282329AA*
c’ Bushing ont Ybpe ’
RODRUNNER REF NO: TC-DO-438 woaPTABLE JEEP

Control Arm and Ball Joint

Weight: 2,426 Length: 198  Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
GRAND CHEROKEE WK2 2011-2021 " (ZZ gfht 68282328AA
COMPONENTS NUMBER NAME  DIRECTION OEM NO
ﬁ' BJ-DO-395 Ball Joint Front Upper 68282328AA*
& BC-JP-BS052 | COMMOIATM 1 pont Upper | 68282328AA", 68282320AA*

Bushing



X H“ NER : . " March 2024

ING & SUSPENSION PARTS &%

\\l

RODRUNNER REF NO: TC-D0O-439 ADAPTABLE DODGE
Control Arm and Ball Joint

Weight: 2,426 Length: 198  Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

DURANGO 3rd Gen 2011- Front Left 68282329AA
Upper

COMPONENTS NUMBER NAME DIRECTION OEM NO

ﬂ' BJ-DO-395 Ball Joint Front Upper 68282328AA*
- BC-Jp-BS052 | COMIOLAMM 1 Upper | 68282328AA, 68282329AA*
& Bushing ontLppe ’
RODRUNNER REF NO: TC-DO-439 woaPTABLE JEEP

Control Arm and Ball Joint

Weight: 2,426 Length: 198  Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
GRAND CHEROKEE WK2 2011-2021 F ’ZZ; ‘;ﬁ 68282329AA
COMPONENTS NUMBER NAME  DIRECTION OEM NO
ﬂ' BJ-DO-395 Ball Joint Front Upper 68282328AA*
& BC-JP-BS052 | COMMOIATM 1 pont Upper | 68282328AA", 68282320AA*

Bushing



~—
/,‘" E’EENING & SUSI‘EISIH PENH

RODRUNNER REF NO: BC-JP-BS052

Control Arm Bushing

Weight: 0,184 Length: 45

MODEL NO BODY

DURANGO 3rd Gen
; TC-DO-438
c TC-DO-439

YEAR

2011-

Control Arm
and Ball Joint

Control Arm
and Ball Joint

RODRUNNER REF NO: BC-JP-BS052

Control Arm Bushing
&
Weight: 0,184 Length: 45
MODEL NO BODY
GRAND CHEROKEE WK2
; TC-DO-438
‘ TC-DO-439

YEAR
2011-2021

Control Arm
and Ball Joint

Control Arm
and Ball Joint

DIRECTION

Front Upper

Front Right
Upper

Front Left
Upper

DIRECTION

Front Upper

Front Right
Upper

Front Left
Upper

March 2024

ADAPTABLE DODGE

OEM NO
68282328AA%, 68282329AA*

68282328AA

68282329AA

ADAPTABLE JEEP

OEM NO
68282328AA%, 68282329AA*

68282328AA

68282329AA



A\

=" N0DRUNNER

/ STEERING & SUSFENSION PARTS

y

RODRUNNER REF NO: LS-FO-116
Stabilizer Bar Link

Weight: 0,292 Length: 125 Bolt Metric: M12X1,25
MODEL NO BODY YEAR

EXPLORER U625 2020-

RODRUNNER REF NO: LS-FO-116
Stabilizer Bar Link

Weight: 0,292 Length: 125  Bolt Metric: M12X1,25
MODEL NO BODY YEAR

AVIATOR ue611 2020-

DIRECTION

Rear Right

OEM NO
LB5Z5C486A

ADAPTABLE | INCOLN

DIRECTION
Rear Right

OEM NO
LB5Z5C486A



A\

=" N0DRUNNER

/ STEERING & SUSFENSION PARTS

y

RODRUNNER REF NO: LS-FO-117
Stabilizer Bar Link

&>

-

Weight: 0,292 Length: 125 Bolt Metric: M12X1,25
MODEL NO BODY YEAR

EXPLORER U625 2020-

RODRUNNER REF NO: LS-FO-117
Stabilizer Bar Link

&>

p—

Weight: 0,292 Length: 125  Bolt Metric: M12X1,25
MODEL NO BODY YEAR

AVIATOR ue611 2020-

DIRECTION

Rear Left

OEM NO
LB57Z5C4868B

ADAPTABLE | INCOLN

DIRECTION

Rear Left

OEM NO
LB57Z5C4868B



=< NODRUNNER & March 2024
RODRUNNER REF NO: TR-FO-182 ADAPTABLE FORD
Tie Rod End USA Market / RWD

YEAR ONLY

2005-2007

X

Weight: 2,026 Length: 420 Bolt Metric: M16X1,5 Housing Metric: 7/8" 16G

MODEL NO BODY YEAR DIRECTION OEM NO
ES80753, 5C3Z3A131GA,
F-250 SUPER DUTY PHN131 1999-2007 Front Inner B03ZIA1310
RODRUNNER REF NO: TR-FO-182 aPTABLE. FORD
Tie Rod End USA Market / RWD
YEAR ONLY

2005-2007

i

——

Weight: 2,026 Length: 420  Bolt Metric: M16X1,5  Housing Metric: 7/8" 16G
MODEL NO BODY YEAR DIRECTION OEM NO

ES80753, 5C3Z3A131GA
- PHN131 1999-2007 Front | 7 ’
F-350 SUPER DUTY ront Inner 603731310




A\

=" N0DRUNNER | March 2024

STEERING & SUSFENSION PARTS at

y

RODRUNNER REF NO: BJ-H-104K ADAPTABLE HONDA
Ball Joint Kit
—#
i

Weight: 0,826 Length: 94,5 Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
CK58/CM58/D CMS601128* CMS601129*%
PASSPORT M58 1997-2002 Front Upper 8973664840" 8972326211
RODRUNNER REF NO: BJ-H-104K ADAPTABLE [SUZU
Ball Joint Kit
—#

Weight: 0,826 Length: 94,5 Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

CMS601128*, CMS601129%,

TF 1981-2004  Front U
RODEO ront Upper 8973664840% 8972326211



b NER _ 5 March 2024

STEERING & SUSFENSION PARTS

\\l

RODRUNNER REF NO: BJ-H-114
Ball Joint

-

ol

Weight: 0,812 Length: 92,5 Bolt Metric: M14X2

MODEL NO BODY YEAR  DIRECTION OEM NO
$2000 AP1/AP2 1999-2009 Front 51230S2A000
RODRUNNER REF NO: TC-H-1418 ADAPTABLE HONDA

Control Arm and Ball Joint

Weight: 3,296 Length: 360,5 Bolt Metric: M12X1,25

MODEL NO BODY YEAR DIRECTION OEM NO
CITY 7th Gen 2020- Front Right 51350T00T00
Lower
COMPONENTS NUMBER NAME DIRECTION OEM NO
#
- . 51350T5AJ01* 51360T5AJ01*,
! BJ-H-1004 Ball Joint Front 51360T00T00*
- * *
“ BC-HO-BS130 Lateral Arm Front Lower 51350T5AJ01* 51360T5AJ01*

Bushing Outer 51360T00T0O0*



=L NODRUNNER & March 2024

STEERING & SUSFENSION PARTS

\\l

RODRUNNER REF NO: TC-H-1419 ApAPTABLE HONDA
Control Arm and Ball Joint

Weight: 3,296 Length: 360,5 Bolt Metric: M12X1,25

MODEL NO BODY YEAR DIRECTION OEM NO
CITY 7th Gen 2020- Front Left 51360T00T00
Lower
COMPONENTS NUMBER NAME DIRECTION OEM NO
s
: . 51350T5AJ01* 51360T5AJ01*,
! BJ-H-1004 Ball Joint Front 51360T00T00*
““ Lateral Arm Front Lower 51350T5AJ01* 51360T5AJ01%
BC-HO-BS130 Bushing Outer 51360T00T00*
RODRUNNER REF NO: BJ-HY-114K ADAPTABLE HYUNDA/
Ball Joint Kit

didl

B o, (O, By

Weight: 1,686 Length: 93,7  Bolt Metric: M16X1,5
MODEL NO BODY YEAR DIRECTION OEM NO

TERRACAN HP 2001-2007 Front Lower 54503H1002, 54502H1002




/ STEERING & SUSFENSION PARTS

A\

y

RODRUNNER REF NO: LS-JE-406
Stabilizer Bar Link

[

Weight: 0,554 Length: 128  Bolt Metric: M12X1,5
MODEL NO BODY YEAR

GLADIATOR JT 2020-

RODRUNNER REF NO: LS-JE-406
Stabilizer Bar Link

[

Weight: 0,554 Length: 128  Bolt Metric: M12X1,5
MODEL NO BODY YEAR

WRANGLER JL 2018-

March 2024

ADAPTABLE JEEP

DIRECTION

Front

DIRECTION

Front

OEM NO
68293033AC

ADAPTABLE JEEP

OEM NO
68293033AC



— 2
/,‘k Bresunmn & susrinsuﬂ PENH

\\l

RODRUNNER REF NO: TC-KI-838
Lateral Arm

7 I,

Weight: 1,948 Length: 439

MODEL NO BODY YEAR DIRECTION
SEDONA YL 2015- Rear Right
Upper
COMPONENTS NUMBER NAME DIRECTION
= =
’ Bc-sB 1019 | -ateral Arm Rear
- Bushing

RODRUNNER REF NO: TC-KI-839

Lateral Arm

A

Weight: 1,948 Length: 439

MODEL NO BODY YEAR DIRECTION
SEDONA YL 2015- Rear Left
Upper
COMPONENTS NUMBER NAME DIRECTION
= =
’ Bc-sB 1019 | -ateral Arm Rear
- Bushing

March 2024

ADAPTABLE KA

OEM NO
55101A9000

OEM NO

5510032000%, 551003R000

ADAPTABLE KA

OEM NO
55100A9000

OEM NO

5510032000%, 551003R000



\\l

=L NODRUNNER . March 2024
RODRUNNER REF NO: LS-P0O-536 ADAPTABLE PORSCHE
Stabilizer Bar Link

e

Weight: 0,488 Length: 203

MODEL NO BODY YEAR DIRECTION OEM NO
CAYENNE 92A 2011-2017 Front 95534306910
RODRUNNER REF NO: LS-TS-166 T—
Stabilizer Bar Link YEAR ONLY
2021-

Weight: 0,446 Length: 228,5 Bolt Metric: M10X1,25
MODEL NO BODY YEAR DIRECTION OEM NO

MODEL S 1st Gen 2012- Front 142039100C



R):HNNEH B | March 2024
RODRUNNER REF NO: TC-V-1058 ADAPTABLE \/OLKSWAGEN
Lateral Arm

S—

Weight: 0,68 Length: 282,5
MODEL NO BODY YEAR DIRECTION OEM NO

CADDY Type SB 2020- Rear Upper 5R3505237B



